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Read the statement and Write the answer

❑ Max has 15 balloons. 4 of the balloons burst. How many are 
left?

Solution: - =15 4 11

❑ If you had a 40 plums and use 13 to make jam. How many 
would you have left?

Solution: - =

❑ There were 53 boys in a class. 9 boys go for leave. How 
many boys are left in class?

Solution: - =

❑ A man has 37 dollars. He donates 8 dollars. How many 
dollars is he left with? 

Solution: - =

❑ A boy had 7 slices of bread out of 14. How many bread 
slices are left?

Solution: - =
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